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QUESTION 1

Why is it important for organizations to implement a multi-site remote replication solution?
A. Ensure data protection is always available if there are any single site failures

B. Provide consistent near-zero RPO in the event of source and remote site failures

C. Perform synchronous replication with low network bandwidth

D. Recover data to any point-in-time in the event of a remote site failure

Correct Answer: B

Reference: https://www.mycloudwiki.com/san/storage-based-replication-overview/

QUESTION 2
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Based on the exhibit, which type of storage does the "X" represent?

A. File-based

B. Block-based

C. Object-based

D. Unified-based

Correct Answer: C

Reference: https://www.itproportal.com/2014/06/05/5-object-storage-requirements-your-business-needs- to-consider/

QUESTION 3

Which Internet of Things (IoT) component is responsible for the automation of operations by applying a force based on
the dynamics of data?

A. Actuator
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B. Switch

C. Sensor
D. Gateway

Correct Answer: C

QUESTION 4
DRAG DROP

If the client requests authorization from the resource owner, what are the remaining sequence of steps to authenticate a
user using OAuth control?

Select and Place:

Client requests an access token by authenticating with the STEP 1
authorization server and presents the authonzation grant
Client requests the protected resource from the resource STEP 2
server and authenticates by presenting the access token -
Client receives an authorization grant used by the client
: STEP 3
to obtain an access token
Resource server validates the access token and. if valid
STEP 4
serves the request
Authorization server authenticates the client and
validates the authorization grant STEP 5

Correct Answer:
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Client requests the protected resource from the resource
server and authenticates by presenting the access token

Client receives an authorization grant used by the client
to obtain an access token

Client requests an access token by authenticating with the
authorization server and presents the authonzation grant

Authorization server authenticates the client and
vahdates the authorization grant

serves the request

Resource server validates the access token and if vahd

Reference: https://tools.ietf.org/html/rfc6749

QUESTION 5

What is an accurate statement about scale-out NAS?

A. Creates a different file system for each node in the cluster

B. Stripes data across nodes with mirror or parity protection

C. Supports only data replication for protecting data

D. Pools node resources in a cluster to work as multiple NAS devices
Correct Answer: B

Reference: https://www.mycloudwiki.com/san/nas-architecture/
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